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QUESTION 1

Regarding Huawei Videoconferencing VME technology, which of the following descriptions is correct: () (multiple
choice) 

A. It can improve image compression ratio and save bandwidth 

B. Optimize the image processing of the active area to increase the clarity 

C. Optimize the graphics in the static area to increase the clarity 

D. VME\\'s frame doubling technology can improve the smoothness of images 

Correct Answer: ABD 

 

QUESTION 2

In the central networking mode of the converged conference MCU, what is correct about the traversal of public and
private networks? () (Multiple selected) 

A. TE/RP/TP access MCU through SC proxy signaling and media stream 

B. eSpace Mobile accesses MCU C through SBC proxy audio and video media. 

C. External web client access MCU through MS proxy audio and video 

D. eSpace PC connects to MCU through SC proxy signaling and media stream 

Correct Answer: ABC 

 

QUESTION 3

The SIP terminal sends an Invite request and enters the early dialog state after receiving a 180 response () Correct or
Wrong 

A. Correct 

B. Wrong 

Correct Answer: A 

 

QUESTION 4

In the H.460 public and private network traversal single SC network, the H.245 TCP connection of the private network
terminal is established with the TS (traversal server). () Correct or Wrong 

A. Correct 

B. Wrong 

H11-879 PDF Dumps | H11-879 VCE Dumps | H11-879 Braindumps                                2 / 3

https://www.leads4pass.com/h11-879.html
https://www.leads4pass.com/h11-879.html
https://www.leads4pass.com/h11-879.html


https://www.leads4pass.com/h11-879.html
2024 Latest leads4pass H11-879 PDF and VCE dumps Download

Correct Answer: A 

 

QUESTION 5

Phone A has been successfully registered to the U1900 system. At some point, unplug the network cable. At this time,
log in to the U1900 system to check the registration status of phone A. The following statement is wrong () 

A. The registration status of phone A in the U1900 system may change immediately 

B. The registration status of phone A in the U1900 system may remain unchanged 

C. The registration status of phone A in the U1900 system may change after a period of time 

D. The registration status of phone A in the U1900 system is updated, only after the network cable of phone A is
unplugged, the change occurs after half of the registration period of phone A has passed 

Correct Answer: D 
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